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X R 1880] £ W | 10kg| 2000/ 1500] 1000] O
A 5 2940 % B & [10kg | 2600[ 2200/ 1600] A
3 R 1825] [ 1L | 4ksg 2000/ 1200] 1000/ O | B3 185] & #1 | 0.2kg 90 85 80| A
L % B3 20 & # [ 0.2kg 100 A
/N A ¥ 851 & # | 0.2kg 125 90 70 A
= B3 7250 M 4 | 15kg| 3500/ 3000] 1200 °A ] [= W = 70, K & S 130 100 70| A
F ¥y N Y 3716] & & | 10kg| 3000] 2600/ 2400/ OA| & % 138] #& M |0.15kg 110 100 90| A
A UL Y E 952 & b kg 675 650 500 A | & = S 100 & & | 0.lkg 105 100 A
= % 277 M W kg 950 5000 A | # = 5 9 M W | 0.5ke 2500/ 2200 A
= Z 948| W 4 | 3kg 2200/ 1500 700] A
7 AN H A MW 0.lkg (NS % & A = 10kg [N
70w ay — 260 # I & | 6kg 5500/ 5280/ 3600 A | ¥ = — L &% =& 40 & H 4kg 3000/ 2300] 1000] A
HY T 5T — m B | 6kg R 7Y — vy —37 120, & [ 4kg 2500/ 1000] A
¥ Uy = 100] #& T | 10kg 3000 A
& i 1040] = W | 5kg 2900/ 2500/ 2000] A
& i 1000| =2 — Y —| 10kg 2800/ 2200] A
N + ) =G| 0.2kg [N
7 F 1052| g8 & | 4kg 2500 2400] 2200] A
K < K 2358 & #1i | 4kg 1800| 1500 800 Al # v ¥ v % « 80| & #1 | 0.2kg 100 A
NI 780 W i [0.2kg 250 200 130] A
¥ - < v 353] = & |0.13kg 120 110 A L L ¥ > 32| & & | 0.lkeg 200 A
4 v v 20 & Hm | 2kg 4000 35000 A | B £ 0 46| & B | 0.1kg 24 A
8 X X 30 B B B | lkg 1500 1300] A
A F v ¥ 159 # R & | 1lkg 1500/ 1300/ 1000 A | = v = 7 100] & #& kg 2550/ 2200 A
Eeil S = w1l 4kg
3 = 65| & & 4kg 5200] 3500 2800 A
H = 1300 4 & | 5kg 2500/ 1500 600| O
B % = i & & | 10kg N2 7 z 5 & #L | xvh X
A — 7 4 v it & & | 10kg KR 740V | avhk NS
E ¥ b ¥ & | 10kg N2 X E 64| ® % | O0.lkg 350 340 A
* A t ¥ & | 20kg X
& # | 10kg ¥ 5 & A L # E | 10kg
H 1 5 109 ® i |0.1kg 150 120 100 E B 5kg
P 1050 & ® [0.2kg 90 80 70
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